9PN NOTINY NVNPIN — 1DV (044192) 2 NP2 MDIYNI MNYIN
279N 1IN PPLW DINY 19179

(H9N) 129N A8N MNNYWN .1 P99

IUNY L1 19P2 MO NNNDNIAYTHLIV DININ DIRVND NINP NN NN N P9
:(2799) Y932 MMIAPI NPINDY 28N MOIYNY DXON»NNI

PIINDY AN MNNWND *

NYIANNIINY NYDANIONP e

AN MOIWN DY NPDIOI NMVP MNY *

M»pYy MInNn - ¢

TINVDIRPIN NN

19N 2NN MHINNYN 1.1

INOYMN NNNX ND”D DY (Y12 NYIAPY IINYD) 27P5 NOIWN NN .98 19t N
;28071 w021 (SISO noyn) NN

Lx(t) = Ax(t)+Bu(t), t=0;  x(0)=x,
y(t) =Cx(t) + Du(t)
DTN N asn NOPY N X(t) e R :qwuno
019PD NN NN MM U(t), y(t)

29YNN DY ONINNNN 28NN — NINNN ONIN NOPI X

1910 OINDI NINS

X(t) = €Atxg + I;eA(t_T)Bu(r)dr, t>0

y(t) =Cx(t) + Du(t)
—Cex, + j;CeA“-f)Bu(r)dr +Du(t)

T Noya ,nwnn Yw (Transition Matrix) 2200 D8 10 4 nyronn

INVNN NVN T DY NI, NXN



(NITN) 28N IXNWN : 1 P19 2 NP2 MOWN

At
Z( )

A=TAT = eM=T7M (o7 nInm noxy »my nawns 1)

et =L H(s1-A™} . 0999 TIDNN MYSNNT IN

17 D292 MYINA RONN PNINMON  : NNDNHN INPND
Y (s) = H(s)U(s) + C(sl — A)x(0)

: 12NN YW NNONNN 8PN 11N H(S) TwNo

s Y(s)

=C(sl-A)'B+D
U( ) x(0)=0

H(s) =

DIMNIND DINON WD a(s) awno , H(s) = ) Yapnn
a(s

b(s)
a(s) =det(sl —A):=s"+as" " +...+a,
WNN PON YA A DY YIYN D ON 770 ON TPVIVIION NN NIIYNM : MDND

Re{4(A)}<0, i=1...,n H>5v

.BIBO m2>%Y (Pn751n XY INR) 22900 D) 10 N1 ONIN

LANDN MKMW 12yt .2
X(k +1) = Ax(k) + Bu(k) ; x(0)=
y(k) =Cx(k) + Du(k)

k-1

x(k) = A“x(0) + > A“F™Bu(m) £ 99%7 DINNA PIND
m=0

X(2) ={(zl = Az} xo + H(2)U(2) : Z INRNN MYSNHNI PIND

H(z)=C(zl —-A)'B+D . IMDNNN NOXPIND

a(z)=det(zl —-A):=z"+az" " +...+4a, DN DI

YN TIN2 ¥y 95 OX PN OX (BIBO 195)) 1o0Divam oN N2 NN : MY
JAMA) KL 1=1...,n PN



(NITN) 28N IXNWN : 1 P19 2 NP2 MOWN

MXRNONN 120 a8nD MXNWN  : (MIMO) mNog» Mmoo M91m MM )
;0792 . MINONY 99D INV) MDD 990D NIIWNY IUND DY MOPN NIVIY

X(t) = Ax(t) + Bu(t)

y(t) =Cx(t) + Du(t)
w1 Y(1) -1, N9991n5 NPIOPON MDNON Y 3N P2IIIY NTINY NOPI PN U(t) TURD

:(D»I5PON) RN MMN DD NX 59150 NTINY NV
Uy (1) y1(t)
Upy (£) y, ()

100 A 190070 . Birm Croxngs Dpexmy : I8N0 B,C, D mxovonn 1moom

u(t) = y(®) =

LNXN DIV NNIVN IPY RO

T2 AN NYNON N2INID NN A¥NN NXNWN YD 2D DIV
X(t) = Ax(t) + Bu(t) = Ax+ By, (t) +...Bu, (t)
YN NMT XL LB =[B,,...,B,] n¥vnn mmny on B j DOPIN IWND

NNN 999 NTI9 IRNWHD Nwynd nrvan y(t) =Cx(t) + Du(t) mmopnn nxosn
:NPIDPON MNININ
yj(k)=C;x(k) +Dju(k), j=1....0

.C,D my»uonnmmwon C i D j TUND

JOxm Tona nyon nny 80 H(S)=C(sl —A) B+ D n1onnn mypna

IYUND




(NITN) 28N IXNWN : 1 P19 2 NP2 MOWN

NIYHIANITIINY NIDANIVNP .1.2

NN X5 INN ANN I3 X dXNINNN AN D10 NIIWNN NN NIAND 117 ONM : NINY

10NN NDND MNIT DY ANNN

2NN DD N2AY OX NX22AIVNP RIPN (PN IN 77T JA12) 2NN NIV : DITIN

1020 MNY TI9D 0T 0P, X N80 280 X(0) = X, XN5NNN

X(TM)=x¢ v {u(t),0<t<T}

NYIVN DN PN ON NIDPANIONP NP (TITIIN PN JIT) 8D NOIWYN 1 VIVYN

(N 52) M9 T nova nn C=[B, AB,---, A" IB] nvbrmasonpn

DNNON DTN YT HY NOIWNN DY ONONNNN) ANNN NN NN NYTY DY) DN : NONY
APNWYT NOMNONY NNINA) 725

112 ON TPINITNIN XIPN (PN IN T2 1972) 280 MNXNIYN NOIWN : DITID
99 DY NN NDNIN MMN Y TN X(0) »ndNNNN a8HN VP X 2WND

w1 A B,C,D mxonnw nnnaamo nxy) [0,T] »910 a1 H1n1o»n

NXIVN ON 27 OX TPDPANNIN NP (TITAIN PN JIT2) 28N NOIWYN : VIYN
:(N) NN NHYIT NHYA NN NNAN DDXANIIND

C
0| CA
CAﬂ—l

.MIMO m53ynY D) NI IR NIRNIN : DI



(NATN) A8N NNXNWN : 1 P9 2 7P MOIYN

DINHY PN OX 9N XIPN (SISO) S =(A,B,C,D) 181 no7yn : n1ondn
: DNDNNN NMXPND NN NN P2

H(s)=C(sl - A)'B z@, a(s) = det(sl — A)
a(s)

JPDANITNINY TIDIANTONP NN ON 77) ON NP1 NIIWNN : VAVN



(NITN) 28N IXNWN : 1 P19 2 NP2 MOWN

(7252 SISO MdvNnY) NYOY02 NP MY .1.3

: 997901 HY NMINP NN

-3, -a, ... —a, 1
A=t B, =|?| Cc=[by....h]
1 0 0

(D=0 May) nYapnnn NMoNNN NMOXPND

bs" ™ +...+b,
s"+as" 4. +a,

H(s)=

0220700p A, B, 780 :9m123) 705225170079 TN NN IT NP NN NN

: 1IN NPDIADVNPN NNIVN

1 .al an—l -1
C=l 0 .
1

(A, B;,C,) > 5y mymmn a8nn noyn 55 H(S) nonn n»spns jny»na
5V 7919021 WIRMI : NXOPA) I9ONP SV 1P 1NN H(S) Sv vinon nXIp)
AH(s)

S INIIDIN HY MNP DNN

-8 1 by
A =| “ 1] Bo=|%| C,=[10....,0]
—a, 0 b,

2732 : N2APHND NNONNN NOXPN

W A,Cy TN DAMP3) HIANTIIR THN NP T TP NN NN

: PP NPDANININD NNIVN . (OD221ITIIN



(NATN) A8N NNXNWN : 1 P9 2 7P MOIYN

1 -1
Oy=| & O
a, 4 a 1

(A, By, Cp) > 9y nmmn a8nn noyn 95 H(S) n1onn n»spns ny»na
SV INITIIN YIDIND : NP INNIN OW 7NP 11N H (S) Dv vinamn nxIp)
AH(s)



2 7P MOIYN

(MITN) 28N ANNWN : 1 P9

mY» Y Mmnn .1.4

: S=(AB,C,D) nowna yam
X(t) = Ax(t) + Bu(t)
y(t) =Cx(t) + Du(t)

(MP19990-KY Ty NN T WD) X(1) =T 1X(t) wIn 280 M0P NN
: INAN NOIYND NN

LX(t) = AX(t) + Bu(t)
y(t) =CX(t) + Du(t)

IVND

=T!AT, B=T7'B

=CT, D=D

O >

mysnna, S = (A B,C, D) noyns noipy nxpy S = (A, B,C, D) noynn
T m>pvn nannn

(NN NIIWN 2NN NOIYN DY MDPPYUN NINNN
NNONNN NONPNS *

NYYA1I0NPN NNIVN T

TOIANITIND NYIVN NHIIT
:DMPNN )0 Oy I

O=01 ,C=T -

: VAVN

200D DY IIMNP NN NOIWNT NIPY NODIANIONP 28N NOIYN U .N
SR OV NIMNP NN NOIWNY NIPY NPPINININ AN NOIWN 55 .2



(NATN) A8N NNXNWN : 1 P9 2 7P MOIYN

: (NNY23) MINPDNT

s+1
H(S) = ————— 17NN MYPNI oY, N=2 7T0N a8N NN MM .1
s2+55+6

: 9V NIMP NN NOIWND NOPY NOIWVNN ONXN
99000 N
NN .2
1TPNDOON )

s+1
.H(S) =—=———— poyan qwno,1 NONY Y Y i .2
2
S°+3s+2

.N=3 > )3 0yoN TN ,1 MOV HY 1IN .3



(NATN) A8N NNXNWN : 1 P9 2 7P MOIYN

(System Modeling) 991 .1.5

P20 NN SVNPNNI DTIN NI NI NP NIIYN MM DN DD 1OV
SV ONY P PNIAND 1NN
2NN NRM OMOPID NINIPY NINNOVPNN DTV NI .1

TN N2NN ND) NNN NOIWN NIANN DY NPW DTN .2
NPT IND) 280 MNNYNID HYA0 19INI 57210 TN 19N XINY NYNRIN NIPND
NOYNN MY (NPINPY

:YPNY MINDIT

: NAN NN INNN TINND NPDIDI MIDIYN 19010 DY MINDITI NYI ONPN TvHa e
Control Tutorials for Matlab and Simulink:
https://ctms.engin.umich.edu/CTMS/

OINYI 5TIN) LYY NP .1
I 0N YN .2

1-10


https://ctms.engin.umich.edu/CTMS/

(NITN) 28N IXNWN : 1 P19 2 NP2 MOWN

NVINIY .1.6

NON DMP1N2 DINDD INN DAPNNN 28NN DT ORNNAY,NPINDD 1IN N MOIWN
TI2Y NTIPI 2520 MIMIPN MININDD WIND YT Y 27PN YINDD DT DIP5 1NN

(272 M12P) MINDD-NON 2NN DTN
Sx() = f(x@),ut)), t=0;  x(0)=x,
y(t) = g(x(t),u(t))

:(n79)) DPWN MYV NP
YEEh(xE,u®) o, F(x%,u®)=0rmyw (x%,u) 85y .
107D 120N WIANN NNWUN

K(t) =x(t) —x, a@t) =u(t) -u®, y@)=y@)-y°

$)37YIN N2>201 NANPNIN TINIDN NOIWNN
LX(t) = AX(t)+Ba(t), t=0;  X(0)=x—x°
§(t) = CX(t) + Di(t)

:IWUND
A:c’if(x,u) | |3:c’ﬂf(x,u)
X oy Mo ey
C oh(x,u) D= oh(x,u)
X oe ) U e )

1-11



(NATN) A8N NNXNWN : 1 P9 2 7P MOIYN

(INDD XD HTIN) LYY NIPA : DINT
2
ma = Frotor — BV

VTS « —_By2,1, 4
X =V, U= Fygor = X =—1X +-U = f(x,u)

VMY (WA 25) WP 90 MNN 220 ANPR HTINI DINNYN NNRY M)
X =25m/s
U = B(x$)? na v nrwanm PIND 11 MAPIm nYaph

22PN MN

%, =A% +Bd

A=28xf=.. B=

1
m m

STPH2ID) TINDAINDYY DY ¢

1-12



